ASSEMBLY INSTRUCTION Page 1/5

B2026DBTF/WHTF-1 TWIN/FULL UPPER & LOWER HEADBOARD/FOOTBOARD
B2026DBTF/WHTF-2 TWIN/FULL RAIL/GUARD RAIL/LADDER
HOME ANCE B2026DBTF/WHTF-SL TWIN/FULL UPPER & LOWER SLAT

CAUTION:
A It is recommended to install protective pad under all legs and support to avoid damage or scratched when placing

furniture on a wood floor or other hard surface . And to limit indentation and prevent discoloration if placing on carpet.
NOTE: DO NOT TIGHTEN BOLT UNTILL COMPLETELY ASSEMBLED.

PART LIST:

/@//@/

© Lower LSF board @2 Lower RSF board @3 Upper LSF board ©>Upper RSF board @3 Full Lower @B Full Lower @) Twin Upper ©3 Twin Upp_er
1PCS 1PCS 1PC 1PC Back Rail 1PC Front Rail 1PC Back Rail 1PC Front Rail 1PC

&,
@ Back Guard Rail 2PCS @ Front Guard Rail 2PCS @) Center Slat Support @Back/Front Guard @Front Guard Rail  3LSF Ladder ~ @RSF ladder ~ {®Ladder @Lower Slat @Upper Slat
1PCS Rail Post 2PCS Post 1PC post 1PC post 1PC tep 4 PCS 13 PCS 13 PCS

HARDWARE LIST(Hardware package packed with headboard/footboard)

A Bolt 14"x33116" | 16pcs |H| (1} Metal Pin 31/2" 4PCS
B Bolt 1/4"X3 1/18" | 6PCS | [o[o] j Bracket 2PCS
C Bolt 1/4"X2 318" | 1opcs | J Washer 16PCS
D Bolt 1/4"X13/8"( opCcs |L | TCeg=—o] Bracket 2PCS
E Screw 1/8"X5/8" 14PCS |N (D Bolt 1/4"X2" 2PCS
F Wrench PC M D Nut 2PCS
G Screw 5/32"X1 3/8" | 50pPCS



AutoCAD SHX Text
01

AutoCAD SHX Text
033

AutoCAD SHX Text
044

AutoCAD SHX Text
055

AutoCAD SHX Text
10

AutoCAD SHX Text
14

AutoCAD SHX Text
15

AutoCAD SHX Text
166

AutoCAD SHX Text
18

AutoCAD SHX Text
099

AutoCAD SHX Text
066

AutoCAD SHX Text
12

AutoCAD SHX Text
022

AutoCAD SHX Text
17

AutoCAD SHX Text
11

AutoCAD SHX Text
13

AutoCAD SHX Text
077

AutoCAD SHX Text
088


Page 2/5

E
5 JE E
\\\/

Lower Full Bed

STEP 1
STEP 3

ASSEMBLY INSTRUCTION

STEP 2

Lower Full Bed

H
| h
A = 8pcs
J = 8pcs
H = 4pcs

A

A e=""1
A e=="
A
A
F A

Lower Full Bed




Page 3/5

o ALY/ 11,
- LA
S -
X o a
T

n B z
Z
Y
0 5
= g .
LU = )
0 s i
” ~ N n 29
< 5 7Y &&

Q nn

- ZEl8 oa

wn

A
J
B

STEP 6




Page 4/5

ASSEMBLY INSTRUCTION

HOME%ANCE

STEP 8

STEP 9

\
\
\
\
\
\
\
\
F \
A

y /)

\\4\.‘.‘1 ‘

\\h\ﬁ




COMPLETED!

Page 5/5

A

/\ SAFETY WARNING

Homelegance puts your child's safety as a Top Priority. Our bunk beds have been
tested by an independent laboratory and certified to be in compliance with
ASTMF-1427,"Standard Consumer Safety Specification for Bunk Beds" and U.S.
Government specifications 16 Code of Federal Regulations, Parts 1213 and 1513.

1.Follow the information on the warning attached to the upper end structure and on the
carton.Do not remove this label.

2.Always use the recommended size mattress or mattress support or both to help prevent
the likelihood of entrapment or falls.

3.Ensure thickness of mattress does not exceed 6" and mattress surface at least 5" inches
below upper edge of guardrails.

4.Do not allow children less than six years of age to use the upper bunk.
5.Prohibit more than one person on upper bunk.

6.Periodically check and ensure that the guardrail ,ladder and other components are in their
proper position, free from damage, and that all connectors are tight.

7.Do not allow horseplay on or under the bed and prohibit jumping on the bed.

8.Always use the ladder for entering and leaving the upper bunk.

9.Do not use substitute parts. Contact the manufacturer or dealer for replacement parts.
10.Use of a night light may provide added safety precaution for a child using upper bunk.

11.1f the bunk bed will be placed next to a wall, the guardrail that runs the full length of the bed
should be placed against the wall to prevent entrapment between the bed and the wall.(This
applies only to bunk beds without two full-length guardrails.)

12.Always use guardrails or both long sides of the upper bunk.
13.The use of water or sleep flotation mattress is prohibited.
14 Keep these instructions for future reference.

STRANGULATION HAZARD:

15.Never attach or hang items to any part of the bunk bed that are not designed for use with
the bed for example,but not limited to hooks,belts,and jump ropes.

SIZE OF MATTRESS AND FOUNDATION:

16 Mattress dimension for upper bunk: 37 3 " - 38 4" in width ,74" - 75" in length and
thickness of mattress doas not exceed 6".

17 Mattress dimension for lower bunk: 53 3" in width. 75" in length and 9" in thickness.
Note:There must be at least 5" from mattress sleeping surface to top edge of guardrail.
REPLACEMENT PARTS

Replacement parts,inciuding additional guardrails may be obtained from any Homelegance

Qealer. )



AutoCAD SHX Text
!


	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


